EMETEOHBEOKOANEX (SMAFELR1IR)

— AT BRI ER

g | BB RS BB BB e AR
T e BE o9 1T (%) B2 00
= 173
FEm 10
N o 2k REL+ 35
1 |E BRI OB 245 | 194 o =
Z Dty 8
=t 245
= 81
- B 15
215 %??%ﬂéﬁﬂﬂi%ﬁ%ﬁ?%\%&?%%ﬁ‘%% 173 13.7 w5+ 33
175 FBX IS ET ORI RAGEEMD 20
Z Dty 24
=t 173
Bz 296
3 |FEOBE 360 | 284 |EE (BEATEH) 42
FE (BERERRE) 22
=t 360
e 71
E 107
tEE 3
4R |REXEEROBE 236 | 186 (=22 10
BER 35
Z Dty 6
ot (BEAEE) 4
=t 236
BEE 12
RERIER R EEORE = >
E TEDBE BE 23
5 2 MAXFOEREE DB 134 106 e 28
Z Dty 13
=t 134
HE 31
AFFDRE OB L -
T D &R DA% 5= 11
% |, axmeoBE [ B v 7
ot (BEAEE) 5
=t 72
RE DL iiﬁ L
> B 7 8
B smeoBs 2.1 25 =on 7
=t 32
HE 10
B 2
8k |HMEDB 14 1.1 [B%EE 1
ot (BEREE) 1
=t 14

&t 1,266 | 100.0




ERBiGAIE

i EEBGE RS EERE R I BE T Bt AR
T sk e 2 AN | (%) B4 (A)
1 |EERVES OB 0 00 = 8
> BECHBN IRRENEL T 5%EEE } 500 |EPER 1
T EERVEE DB R 1
3B | EEAEEES S EEOBE 1| s00 iﬂEE 1
M |BETFRERET SEROBS 0 | 00 | -
&5t 2 100.0
S VS
s |[FRBENESRARERERCRTY st EN
T st e 2 (N | (%) B (A)
EEE (L = S, RAES
1 5% %iﬂfxcz.tuﬂ HE (LT [Ht+%E] 0, ) . 01 iﬂﬁa 5
D ERFE B 5
L DOFRE RE A < mIE
> ﬁ% &? %ﬁ%%z% T LERE : .5 |BEA 3
115 BHEF D BIE B 8
F{F 23
X . I (BEEEY) 9
38k | EEDOBTS 33 60.0
8 TE (BEREER) 1
By 33
T8 7
4 |RE. FIEX X T HORBE 9 164 |[frE
=t
&5t 55 100.0




